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Question Number : 1 Question Id : 87827055698 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the setS={2, 4, 8,16, . .., 512} be partitioned into 3 sets A, B, C with equal number of elements
suchthat AUB UC=Sand AnB=Bn C=AnC=¢. The maximum number of such possible

parliti{ms of Sis equal to:

Options :
878270219051, 1710
878270219052, 1220
878270219053, 1080
1640

878270219054.



Question Number : 1 Question Id : 87827055698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 99574 S= {2, 4,8, 16, . ., 512) 1 TR S99 % 1 Fq7 A, B, C H 36 Vb foifora e
TR AUBUC=S #MANB=BNC=ANC=0¢%I SF IR F Fem faurm =1 afteram
H@T%

Options:

878270219051, 1710

878270219052.

878270219053. 1680

878270219054, 10640

Question Number : 2 Question Id : 87827055699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let £, g : R — R be defined as :

o h x>0
flx)=lx—1| and g(x) = {j Sy e

Then the function f(g(x)) is

Options:



878270219055, both one-one and onto.

878270219056, CTe-one but not onto.

878270219057 onto but not one-one.

878270219058 neither one-one nor onto.

Question Number : 2 Question Id : 87827055699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
HATf,g:R—-R,

g% =0

=lx—1| T elx) =
HE= 8(%) v+ 1, a=0

gra uRepfad 81 41w f(g(x))
Options:
Teheh! AT ATk G € |

878270219055.

Thh! & T STESTEe T4 ¢

878270219056.

SAEIEE & T THhl 78

878270219057.



T 9 THE! 7 IIEE T

878270219058.

Question Number : 3 Question Id : 87827055700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

z+1—\/§i

Let 5 ={z¢C:|zi¢5).5, = zeC:Im[
1= {2 C:[2[<5},5) { T

]EU} and S = {z€ C:Re(z)>0}. Then
the area of the region 51 N S2 N S3 18

Options:

878270219059, 24

878270219060, 4

878270219061.  ©

878270219062, 12

Question Number : 3 Question Id : 87827055700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W51={ZEC:ZE5},SE=LZEC:IN z:l—:ﬁ@}zﬂ T S5 = {2 € C:Re(2)20)% 1 7 &
-3
§,nS, NS, 4T ¢
Options:
125

878270219059, 24

125 1
878270219060. 4

125 1
878270219061.  ©

125 1
878270219062, 12

Question Number : 4 Question Id : 87827055701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The values of m, n, for which the system of equations
x+y+z=4,
2x+5y+5z=17,
x+2y+mz=n

has infinitely many solutions, satisty the equation :

Options:

v I 2 =
878270219063, M~ Nn~+mn= 68



-, W
878270219064, M+ N7 —mn=39

2 +n2 + =f
878270219065, M~ TN~ +m+n=64

YO N
878270219066, M~ T NT—m—n=46

Question Number : 4 Question Id : 87827055701 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m, n &% M, {59 forw e fAwm
x+y+z=4,
2x +5y+5z=17,
x+2y+mz=n

% 3 v €, 3T Y foR wefieor ) Hqw H § 7

Options :

5. =
878270219063, M+ N7+ mn=68

T 2
878270219064, M~ +Nn~—mn=39

2 +n2 4 1= A
878270219065, M~ T+ m+n=64

£ TP
878270219066, Mt NT—m—n=46

Question Number : 5 Question Id : 87827055702 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

B a 3 Ja -9 Ja
Letap#0and A=| a o« PB|.UB=| -a 7 -2a|isthe matrixof cofactors of the elements
-B a 2 = 5 -28

of A, then det(AB) is equal to :

Options:

878270219067.

878270219068. 64

878270219069, 216

878270219070.

Question Number : 5 Question Id : 87827055702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ba 3 3¢ -9 3a
TMaB#0TMA=| o o B EICAEAF o FRESHAE B=| -« 7 o

-B o 2 “n 5 -2
T, T det(AB) TR E :
Options:

125

878270219067.



878270219068. 64

878270219069, 216

878270219070. 343

Question Number : 6 Question Id : 87827055703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

60 words can be made using all the letters of the word BHBJO, with or without meaning. If these
words are written as in a dictionary, then the 50 word is :

Options:

OBBH]J
878270219071.

OBBJH
878270219072.

HBBJO
878270219073.

JBBOH
878270219074.

Question Number : 6 Question Id : 87827055703 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

BHBJO ¥ o Heft &t o WA & 60 SHef 21 el I 0 1 Wk ¢ | 3 3 el ) O Ve
1 e foran 10, 1 509 15 2 -
Options :

OBBH]
878270219071.

OBBJH
878270219072.

HBBJO
878270219073.

JBBOH
878270219074.

Question Number : 7 Question Id : 87827055704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The coefficients a, b, ¢ in the quadratic equation ar2+bi+c=0 are from the set {1,2,3,4,5, 6} It
the probability of this equation having one real root bigger than the other is p, then 216p equals :

Options:

878270219075,
878270219076.

878270219077, °



878270219078, /0

Question Number : 7 Question Id : 87827055704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

TRt TR ax+ b +c=0 % I a, b, ¢ WA {1,2, 3,4, 5, 6} & €1 3¢ 30 Wil o1 v
itk T G g B 1 e p € 9 216p T E ;

Options:

878270219075, 19

878270219076.

878270219077. =/

878270219078, /0

Question Number : 8 Question Id : 87827055705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
K

For x 2 0, the least value of K, for which 417 + 417 o 16" + 167" are three consecutive terms
of an AP, is equal to:

Options:

878270219079.



10

878270219080. 8

878270219081, =

878270219082, 10

Question Number : 8 Question Id : 87827055705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K 91 e o femm 41 4 1%, % 16" + 167 (T > 0) FAP. FTAFAATRE &

Options:

878270219079, 10

878270219080.
878270219081.

878270219082, 10

Question Number : 9 Question Id : 87827055706 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

[ 5
; 3
If the constant term in the expansion of t— +

12
} 120 1s ax2® X%,ﬂwnlﬁuisoqual to
X

sali

Options:

878270219083.

878270219084.

878270219085. 724

878270219086.

Question Number : 9 Question Id : 87827055706 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12

3 2 : . 4

Ifq (i + ;—x] ,x#0, F TR Y SRR UG o x2° x I3 B, T 250 TR T :
¥ &5

Options:

878270219083. 742

« 20
878270219084, 03°

878270219085.



724

878270219086, 097

Question Number : 10 Question Id : 87827055707 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f: [~1,2] = R be given by f{v) =2v*+ 1+ [x*|- ], where [t] denotes the greatest integer less
than or equal to t. The number of points, where fis not continuous, is :

Options:

878270219087.

18}

878270219088.

8782702190809.

2

878270219090.

Question Number : 10 Question Id : 87827055707 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TR f:[-1,2] 5 R, fy) =22+ + |12 - ] 50 o o &, = [ e e < ¢ €1 9 Fge
fﬁﬂq{fﬂﬁﬂﬁ%,ﬁﬁwg:



Options:

878270219087.

878270219088. *

878270219089.

2

878270219090.

Question Number : 11 Question Id : 87827055708 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 1

Let B(m,n) = [x"" (1~ ' de,mn>0. 1 (1 - 79)" dx =ax(b, ), then 100(a+b+0)
0 0

equals

Options:

878270219091, 2120

878270219092, 2012

878270219093, 1021

878270219094, 1120



Question Number : 11 Question Id : 87827055708 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
. 1
T mn) = [ (-0 om0 §1 AR flo =210 de=axpbre) # 7
0 0
100(a +b+c) R %___I

Options:

878270219091, 2120

878270219092.

878270219093, 1021

878270219094, 1120

Question Number : 12 Question Id : 87827055709 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The area enclosed between the curves y=x|x| and y=x—|x| is :

Options:

878270219095,

878270219096.



W |

w2 |

878270219097.

W o

878270219098.

Question Number : 12 Question Id : 87827055709 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
bl y=xlx| M y=x—|x| & o= fo &1 = & ©

Options :

878270219095.

W | R

878270219096.

W | i

878270219097.

Wl

878270219098.



Question Number : 13 Question Id : 87827055710 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The differential equation of the family of circles passing through the origin and having centre at
the line y=xis:

Options:

878270219099, (x?=y* + 2xy)dx = (x*— y* — 2xy)dy
878270219100, (x*+y? - 2cy)dx = (x®+ y* + 2xy)dy
878270219101 (¥2 = y? + 2y)dix = (x2 = y* + 2xy)dy
878270219102. (x*+y? + 2xy)dx = (x*+ y? = 2xy)dy

Question Number : 13 Question Id : 87827055710 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qﬁﬁgﬁmmﬁﬁﬂﬁ@?y=xmgﬁﬁﬁﬁﬂ el 1 SRt T €

Options:
878270219099 (x?=y*+ 2xy)dx = (x*— y* — 2xy)dy

24 B 5. 3
=+ y=—2xyydr = (x=+ =+ 2xy)da
878270219100. (x"+y y) (x=+ =+ 2xy)dy



2 24 g, 5
o=yt 4+ 2xdy = (x=— = + 2x) di
878270219101, =y y) (x==y=+ 2xy)dy

878270219102 (x?+ y? + 2xy)dx = (x?+ > — 2xy)dy

Question Number : 14 Question Id : 87827055711 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let ABCD and AEFG be squares of side 4 and 2 units, respectively. The point E is on the line
segment AB and the point F is on the diagonal AC. Then the radius r of the circle passing through
the point F and touching the line segments BC and CD satisfies :

Options :
878270219103, '= 1
2 —8r+8=0

878270219104.

|
878270219105, 21~ —8r+7=0

|
878270219106, 21~ —4r+1=0

Question Number : 14 Question Id : 87827055711 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR ST 4 7T 2 S % € o F: ABCD 391 AEFG ¥ | foig E YErge AB W & dun fiig F fogi
AC T &1 3 fofg F ¥ 2o ST el 97 Y@rae] BC &% CD 1 1 a7 97 1 Bl 1 €, @ r § &l
3

Options:
878270219103, '= 1

2 —8r+8=0
878270219104.

12— 8r+7=0
878270219105, <

12 —4r+1=0
878270219106, <

Question Number : 15 Question Id : 87827055712 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the circle C, : 2+ ];2- 2(r+1)+1=0 and C, be a circle having centre at (-1, 0) and radius 2.
If the line of the common chord of C; and C, intersects the y-axis at the point P, then the square of
the distance of P from the centre of C, is:

Options :
878270219107. 1

878270219108. -

878270219109, *



878270219110. 6

Question Number : 15 Question Id : 87827055712 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR Cpo ot uy)+1=0 BTN FA C, TR (-1,0) P2t ¢ an g, A
s o 1 T A A R PR ARA g A g pAm C FaR A MR

Options:

878270219107.

878270219108.

8782702191009.

878270219110.

Question Number : 16 Question Id : 87827055713 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A(~1, 1) and B(2, 3) be two points and P be a variable point above the line AB such that the
area of APAB is 10. If the locus of P is ax +by=15, then 5a+2b is :

Options:

878270219111. 4



878270219112. 6

6
878270219113, 2

1
878270219114. 2

Question Number : 16 Question Id : 87827055713 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & fiig A(~1, 1) 79 B(2, 3) € o T AB % R W R fofg P 8 v R fF APAB 1 &
10 %17 P 1 fg99 ay+by=15 &, @ 5a+2b TR T :

Options :

878270219111.

878270219112.

| o

878270219113.

UI|E

878270219114.



Question Number : 17 Question Id : 87827055714 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let (o, B, y) be the image of the point (8, 5, 7) in the line r ; 1 o i 1 8 t 2‘ Then a+p+y
| 5

5 equal to:

Options:

878270219115.

878270219116. 18

878270219117, 10

878270219118. 14

Question Number : 17 Question Id : 87827055714 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i fafg (8,5, 7) 1 @ 2 ; : =~'f:1 - 2;2 o 9fefeid (o, B,y) €1 T atB+y TR :

Options:

878270219115. 20

878270219116. 18



878270219117, 10

878270219118. 14

Question Number : 18 Question Id : 87827055715 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- A e B S A -
Let a=2i+5j-kb=2i-2j+2k and c¢ De three vectors such that

- ."?.\‘ - = = AA A
X{ett|, If arc¢==29 then C'['ZH'}H(J is equal

Options :

878270219119.

878270219120. 12

878270219121, 10

878270219122. *

Question Number : 18 Question Id : 87827055715 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A=

i " =3
W@ WRW a=2i45j-kb=2i-2j42k W ¢ F fw

5 Ay 9 mY = [
c+1] [a+b+1 —aX[CHJ%'!IfE{d =-29 % c { 2:|-j+k}w€ﬂ%
Options:

878270219119.

878270219120. ~~

878270219121, 10

878270219122, ~

Question Number : 19 Question Id : 87827055716 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e —>‘ - - v
Consider three vectors a, b, ¢. Let|a| =2, |b|=3and a =b x c. lf ae|0, 3 is the angle
- -4’2
between the vectors b and c . then the minimum value o is equal to:
Options:
878270219123, 102
878270219124, 124

878270219125.



110

878270219126, 121

Question Number : 19 Question Id : 87827055716 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 9 =

ﬁl L
bl=3%a=0bxc &l Aol b

PR iy guae s gt Y

2
2T T

=
c-a

FA A e {a, ﬂ by
Options :

878270219123.

"
878270219124. 124

878270219125, 110

878270219126, 121

Question Number : 20 Question Id : 87827055717 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0 2 cost + cos20 i ” l
1 — Khan az, A I L L dea ;
d 0530 + 40520 + 5080 + 27 ALl 7 yory tys equal to

Options:

Ba | =

878270219127.

878270219128.

ha | W2

878270219129.

878270219130.

Question Number : 20 Question Id : 87827055717 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 cosf + cos28 . :

H' = a‘i = E e + .«+ :

s y8) cos30 + 4 cos20 + 5 cosh + 2 e o 2 Ry +y+y A e

Options:

1
878270219127, 2
878270219128, 1
3
2

878270219129.



2

878270219130.

Mathematics Section B
Section Id : 8782701153
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782702060
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 21 Question Id : 87827055718 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; . W %) ‘
The number of solutions of sin’x+(2+2x - %) sinx-3(x-1)2=0, where -7 < 1 < 7, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 21 Question Id : 87827055718 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

sin’x + (2 + 2 x%) sinx — 3(x - 1)2=0), Tl - <x<m T H TEAE _
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 22 Question Id : 87827055719 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 = - p1 7 - \
If 1+‘r ‘E+5 .2J6+9‘[ ll‘/§+“19 2[],]5+”.upmm=2+w§+1}lﬂge(%
d

243 18 363 180 J

where a and b are integers with ged(a, b)=1, then 11a+18b is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 22 Question Id : 87827055719 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G5 BB 310 48-3 ’ -
243 18 3643 180 a b

S L PTRRTE PR R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 87827055720 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

; 7
o 15(1 - o2+ 1 - Zr“]]

sl
i (1-ax)?

= o+ 417,

Leta > 0 be a root of the equalion W 4x-2=0, If

where o, f € Z, then o+ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 23 Question Id : 87827055720 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R G 2224 1~ 2=0 F TE YA 2> 0 £

16(1 - cos(2 + x - %))

2

(1 -ax)"

il

X=
a

:uq-B«jﬁ%ﬂ%mBEZ%| ﬂu-+-ﬁW%,—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 87827055721 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the maximum and minimum values of (\fo -12 S 4]2 +(x - 7]2; xeRbeMandm,
respectively. Then M2-m? is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 87827055721 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHl (\181 sgtal -4]2 +(x- 7}2,,1‘ER,$WWWWW: M AN m E 1 M2 -m2
TG

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 87827055722 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

, 0 <t <, then the value of

equals

’j 2y d ’] 7 dt
Ul—cos tsinx 0

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 87827055722 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



k13 7 2

- dt
)= | Zxdx O<t<ng @ [ — AT
ﬂl—mbtamx 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 87827055723 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Let iy=1/(x) be the solution of the differential equation
1
y =m(l +1) ; ]/(0) =

dy 2
ek 2
v (144%)

l
Then the area enclosed by the curve f() = y(x) e-(m_] and the line y-x=41is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 87827055723 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
1

a JAl (2 2
U ke GHIFT L, - lz-y:te“”];y(ﬂ):{], d1 ' y=y() ARG

(144
1
f=yje oo mm - B T

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 87827055724 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a line perpendicular o the line 2x~y=10 touch the parabola y*=4(x-9) at the point P. The
distance of the point P from the centre of the circle x>+ %~ 141 -8y +56=0 is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 87827055724 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Y@ 2 -y=10 e T T W it=4(-9) g P W w1 fog P A g
2+~ 14x -8y +56=0 % &% H ?’aff g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 87827055725 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the point (-1, a, B) lie on the line of the shortest distance between the lines

=D ge ; i
I+2=y = - 5andl+2=y+6=b 1‘ Then(um[i]zisequalto
-3 4 2 -1 2 0 |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 87827055725 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wﬁg(“l,mﬁ]ﬁ(@dﬂ I+2=y—222-5

(+2 ytb z-13 A
g ire YT0 I S A
3 4 2 = | 9 0 by

WRE! @ (a-p)2 TR )



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 87827055726 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the mean and the standard deviation of the probability distribution

X o 1 0 -3

1
P(X = r —
i 3 6 4

be w and o, respectively. If o—p=2, then o +p is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 87827055726 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T Wik a2

X a 1 0 =g
P(X) 1 K l 1
3 6 4

& T 9 I e O w o8 1 M o-pn=28 WMo+ pFRE
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 87827055727 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of real solutions of the equation x\x+5/+2jx+7/-2=0is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 87827055727 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GHIHT xlx +5|+2)x+7|—2=0 % Rl Tlfﬁ TR

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Physics Section A
Section Id : 8782701154
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782702061
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 31 Question Id : 87827055728 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

] (V=) =RT, where letters

&

What is the dimensional formula of ab~" in the equa[ion (P -

!

<] =

have their usual meaning,

Options:

IML*T~3]
878270219141.

M1
878270219142.

0y3p-2

878270219143. LT

[MEL7TY
878270219144,

Question Number : 31 Question Id : 87827055728 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
wﬁm[m iz] (V=b)=RT # ab~1 3} fom # & afes il %1 yafer ad femmman @
V

Options :

[ML2T—?
878270219141.



IIDV’I =115 TE'I
878270219142.

0p3r-2
878270219143. MR

[MSL7T4|
878270219144.

Question Number : 32 Question Id : 87827055729 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man carrying a monkey on his shoulder does cycling smoothly on a circular track of radius 9 m
and completes 120 resolutions in 3 minutes. The magnitude of centripetal acceleration of monkey

is(inm/szl:
Options:
Zero

878270219145,

2 a2
878270219146. 4" ms

; "! —‘.‘I
878270219147. 16m™ ms

E 0L =)
878270219148. 276007~ ms



Question Number : 32 Question Id : 87827055729 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T R U 9 1 S ) T T O m N 3 9 WY R T e 4 e e T S
71 3 2 W 120 Tt 0 31 €| ST o Sk o o TR

Options:

s,
878270219145.

i S
878270219146, T MS

T
878270219147, 167 ms

—rrs 2 1_1
878270219148, 27000~ ms

Question Number : 33 Question Id : 87827055730 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A heavy box of mass 50 kg is Moving on a horizontal surface, If co-efficient of kinetic friction

between the box and horizontal surface is 0.3 then force of kinetic friction is :

Options:

878270219149, 147 N

878270219150.



878270219151, l47 N

878270219152. 1470 N

Question Number : 33 Question Id : 87827055730 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

50 for 1 e ) it e AT o T 9 1 € 1 4 g e et 7w % e i s 1o
0.3 % I T 7w

Options:

878270219149, 147 N

878270219150.

878270219151.

878270219152, 1470 N

Question Number : 34 Question Id : 87827055731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-y
A parlicle moves in -y plane under the influence of a force F such that its linear momentum is

= A A iy =3
p(t) = 1 cos(kt) ~jsin(kt). If k is constant, the angle between F and P will be :

Options:
KA
878270219153, 2
ki
878270219154 3
ki
878270219155, 4
ki
878270219156. 6

Question Number : 34 Question Id : 87827055731 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- ; . ; . L T ¥
F 90 & S T 30 -1y e 8 YRR Tl S ¢ T 31 T T p(t) = ?cos(kt) -;sm(kt)

3 ' = \") -9\ o) =
TIafe ke A PP & o WA

Options:
kil
878270219153, 2
ik
878270219154, 9
o
878270219155, &
kil
878270219156, ©

Question Number : 35 Question Id : 87827055732 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Abody is moving unidirectionally under the influence of a constant power source. Its displacement
in fime t is proportional o :

Options:

878270219157.

3/
878270219158.



2
878270219159. l

878270219160.

Question Number : 35 Question Id : 87827055732 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e fPr s i 4 e o e e vt of v & 1 e o e foemt fov e €2

Options:

878270219157.

(3/2
878270219158.

12/3
878270219159.

878270219160.

Question Number : 36 Question Id : 87827055733 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A vernier callipers has 20 divisions on the vernier scale, which coincides with 198 division on the
main scale. The least count of the instrument 1s (.1 mm. One main scale division is equal to

— I,
Options:
878270219161. Y
878270219162. .
878270219163, !
878270219164. 0.5

Question Number : 36 Question Id : 87827055733 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T A T o AR TR R 20 I € S 39 W T 3 19 S e HOh € 1 7 ] S
0.1 mm €1 e T % e o o (i ) o e €

Options:

878270219161, ~

878270219162. -



878270219163. L

o

878270219164. 0.

Question Number : 37 Question Id : 87827055734 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A satellite 1'evolving around a planet in stationary arbit has time 'period 6 hours. The mass of
planel is one-fourth the mass of earth. The radius orbit of planet 5

(Given = Radius of geo-stationary orbit for earth is 42 X 104 km)

Options:

878270219165, 14%10* km
878270219166. 84x10" km
878270219167. 105x10* km
878270219168, 168X 10° km

Question Number : 37 Question Id : 87827055734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & o fCT: Torell Rermt el o SfGRAT 0 SR 1 VIGRA A 6 51 B % I 5 YA F
7T 1 O S | T8 5l ) A © (9 A o w0 42X 10 km ) ¢

Options :

104
878270219165, 1-4 > 10" km

104
878270219166, O-4 % 107 km

878270219167, 102 x 107 km

o
878270219168, 1-08% 107 km

Question Number : 38 Question Id : 87827055735 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-I with List-II ;

List-I List-II
(A) A force that restores an elastic body of unit area fo its original state (I)  Bulk modulus
(B) Two equal and opposite forces parallel to opposite faces (I Young'smodulus
(C) Forces perpendicular everywhere to the surface per unit area (IIl) Stress

same everywhere
(D) Two equal and opposite forces perpendicular to opposite faces  (IV) Shear modulus

Choose the correct answer from the options gi\:en below :
Options:

8782702191609.



(AL, (BHT) (CHI), (DHIV)

878270219170. (AHLD, (BHLV), (), (DHI)

(AMIV), (BH, (G, (-}

878270219171.

878270219172. (M), (BHIV), (©)-{1, (D-{T)

Question Number : 38 Question Id : 87827055735 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 Fe-I1 9 e #ifee)
T -1
(A) T ey T o T & F1 9 96 9 9H () ST Feme
e 7 7R T
(B) forer Wl o &1 e & ol W W (II) 2 T T
(C) W % Wi U &5hel W eTrferd ot §1 S8 (IIl) i
YA 20 &
(D) T el o & R & fodia e o (IV) 3% %
el gl T foredl & W& ST A

Options :

8782702191609.



(A)-(LI), (B)-(L), (C)-(1I), (D)-(IV)

s78270219170. A0 MBIV (D). (D))

a7o70019171. vl (BHID, (C)-(IT), (D))

878270219172. (A)-(), (B)-(LV), (©)-(1), (D)-(11)

Question Number : 39 Question Id : 87827055736 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[f n i3 the number density and d is the diameter of the molecule, then the average distance covered
by a molecule between two successive collisions (i.e. mean free path) is represented by :

Options:
1
2 nmd’
878270219173.
1
Vanmd?
878270219174.

878270219175.



NoET c[2

1

\/E n‘?’rr?‘d2
878270219176.

Question Number : 39 Question Id : 87827055736 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

afe n T@N T 9 d O] 1 A € T QTR T & At T AT 5 7 S ol g (el
T §

Options:
1
\E n'rrrd_2
878270219173,
1
\V2nmd?
878270219174.
.2
878270219175, V2 nm d
1

\/E 1"121'rj“d2
878270219176.



Question Number : 40 Question Id : 87827055737 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The vehicles carrying inflammable fluids usually have metallic chains touching the ground :

Options:
To protect tyres from catching dirt from ground
878270219177. g
878270219178. To alert other vehicles
To conduct excess charge due to air Iriction to ground and prevent sparking
878270219179. '
878270219180. It is a custom

Question Number : 40 Question Id : 87827055737 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el Zal o o W o Al § TR o g 5 O e e 8 €

Options:

20 T Y | el o TS ¥ 9= % fag

878270219177.



THY arEAl 1 THd HA % Ty |

878270219178.

o1 ST o RO SR 6 T B S Fel B a9l S Y o H |
878270219179.

> YA |
878270219180. R %r

Question Number : 41 Question Id : 87827055738 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A series LCR circuit is subjected to an ac signal of 200 V, 50 Hz, If the voltage across the inductor
(L=10 mH) is 314 V, then the current in this circuit is &

Options:

878270219181. 104

878270219182. 10 mA

878270219183. 63 A
68 A

878270219184.



Question Number : 41 Question Id : 87827055738 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T 40 LCR 999 200 V, 50 Hz 3 U Fearer fireret ® vg) 77 2 | e e (L= 10 mbH) % il
9 AeeAIA VA A WO H ML

Options :

878270219181, 10 A

878270219182, 10 MA

878270219183, 02 A

878270219184, 08 A

Question Number : 42 Question Id : 87827055739 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The ratio of heat dissipated per second thrnugh the resistance 5 () and 10 () In the circuit given
below 15 :

00 %M
W

W

100

10V
Options:
1:2
878270219185, 2
878270219186. 2:1
878270219187. L1
878270219188, 4:1

Question Number : 42 Question Id : 87827055739 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fe w uftae & 5 0 991 10 Q ¥ yfq T SO & 1 I

VWWW
20 0 i

W

10 Q)

Options :

878270219185.

878270219186.

878270219187.

878270219188.

Question Number : 43 Question Id : 87827055740 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g

Fy

-

The electrostatic force [F 1} and magnetic force | *2 | acting on a charge  moving with velocity v

can be written :

Options:



8782702191809.
e I - =
F,=qE, E,=q(VxB)
878270219190.
I - -
F,=qB, F,=q(BxY)
878270219191.
e I B B TR
F,=qV-E, F,=q(B-V)
878270219192.

Question Number : 43 Question Id : 87827055740 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- -
v%@ﬁﬂﬂﬁwwqmwﬁﬁmﬁwmﬂﬁfﬂ@@hﬁ{ﬁ)ﬁﬁ@ﬂ%ﬁ%
Options:

-3 - — e

F,=qE, F,=q(B x V)
878270219189,

-3 - — e

F,=qE, F,=q(V x B)

878270219190.



~» - = - =

F,=qB, F,=q(B x V)
878270219191.

~» — = — — —

F,=qV-E, F,=q(B-V)
878270219192.

Question Number : 44 Question Id : 87827055741 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List-l with List-Il :

List-I List-11

EM-Wave Wavelength Range
(A) Infra-red ) <1073 nm
(B) Ultraviolet (I) 400 nm to 1 nm
(C) Xerays () 1 mm to 700 nm
(D) Gamma rays (IV) Tnmto 10~ nm

Choose the correct answer from the options given below :

Options:
878270219193 (A-{ID, (B-(), (CHV), (DHI)
878270219194, (AHIL), (B0, (C-QV), (D)

878270219195. (A)-0), (B-(IL), (C-(I), (D}IV)



878270219196. (AHLV), (BHLL), (CHI), (DH)

Question Number : 44 Question Id : 87827055741 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 %1 Feii-11 9 foem i |
TEi-1 GE-11
(foregaefaenra 1) (TS )
(A) =T () <1073 nm
(B) &I (I) 400 nm ¥ 1 nm
(C) X-Fereoi (II) 1 mm ¥ 700 nm
(D) e feReot (IV) 1nm¥ 10~ % nm
= fed 2 foeredi 9 H/& 3T e
Options:

(A)-(1), (B)-(1), (C)IV), (D)~(ITI)

878270219193.

878270219194 (A)-(IID), (B)~(ID), (C)-(IV), (D)-()

878270219195, (A1), (B)-(IIL), (C)-(I), (D)-(IV)

(A)-IV), (B)-(IIL), (C)-(I0), (D)-~(T)

878270219196.



Question Number : 45 Question Id : 87827055742 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;
Statement [ :  When the white lighl passed Lhmugh a prism, the red light bends lesser than
yellow and violet.

Statement II :  The refractive indices are different for different wavelengths in dispersive medium.

In the Light of the above statements, chose the correct answer from the options given below :

Options:

878270219197. Both Statement I and Statement II are true
878270219198. Both Statement I and Statement Il are false
878270219199. Statement I is true but Statement 11 is false
878270219200. Statement I is false but Statement II is true

Question Number : 45 Question Id : 87827055742 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270219197. EEERE e R

878270219198, Sl SR 1S e 11 7w € |

878270219190, T o1 196l & W & 11 7TeTd €|

878270219200, o LTIEK T O e I WE

Question Number : 46 Question Id : 87827055743 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A galvannmeter of resistance 100 () when connected in series with 400 ) measures a voltage of
upto 10V, The value of resistance required to convert the galvannmeter mto ammeter to read upto
10 Aisxx10~2 ). The value of xis:

Options:

878270219201.

878270219202.



878270219203.

878270219204.

Question Number : 46 Question Id : 87827055743 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 0 YT % T YR 20 S 400 O oY o WY A0 § W1 T2 4 10 V T F e W
& | TR ) 7R # e o forw STaver Wl 1 WA xx 102 Q08 9 7 10 A TF 4 G WA
T TR

Options:

878270219201.

878270219202.

878270219203. 200

878270219204. 800

Question Number : 47 Question Id : 87827055744 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is not true about stopping potential (V) ?

Options :

It depends upon frequency of the incident light.
878270219205. ’

It depends on the nature of emitter material.
878270219206.

It increases with increase in intensity of the incident light
878270219207. '

It is 1/e times the maximum Kinetic energy of electrons emitted,
878270219208.

Question Number : 47 Question Id : 87827055744 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frreft fasr (V) % fou frfafea § @ 9 @ w97 |@e 78 22

Options:

T SATdfaa Jerd 1 Sgfa W YR e €

878270219205.

878270219206.



I Ioasieh Tt i gha W AR war €

I sTIfed YRt ki dieral § gfg & 91 agdl €

878270219207.

T8 Scafdd getaeil =t sifieran nifast S &1 1/e T a1 ¥

878270219208.

Question Number : 48 Question Id : 87827055745 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The angular momentum of an electron in a hydrogen atom 15 'pmportional to;

(Where 1 is the radius of orbit of electron)

Options:

Jr
8782702192009.

1

:
878270219210. o
878270219211. 5

878270219212.



—_

Question Number : 48 Question Id : 87827055745 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSI T T e o 0 T R WA & (S ¢ 3ol 9 Fa F e )

Options:
Jr
878270219209.
1
878270219210. Jr

878270219211, T

| -

878270219212.

Question Number : 49 Question Id : 87827055746 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During an adiabatic process, if the pressure of a gas is found to be pmpm'tioml to the cube of its

Cp
absolute temperature, then the ratio of C_U for the gas is :

Options:
3
878270219213. 2
5
878270219214, 3
7
878270219215, )
9
878270219216. 7

Question Number : 49 Question Id : 87827055746 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WW#WWW%WWMW%W%W@@W%%W%
I

Options:



b | W

878270219213.

w2 |

878270219214.

| =3

878270219215.

~1|o

878270219216.

Question Number : 50 Question Id : 87827055747 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The output (Y) of logic circuit given below is 0 only when :

Options:

878270219217. A=0, B=(



A=1,B=0

878270219218.
878270219219. A=0, B=1
878270219220. A=1,B=1

Question Number : 50 Question Id : 87827055747 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e % wifersk aftaet = frfa (v) Faa 0 (39) & 9@

~
: L

Options:

g78270219217, =0 8 B=0

A=1 Y B=0
878270219218.

A=03Y9a1 B=1
878270219219.



A=1 A9 B=1

878270219220.

Physics Section B
Section Id : 8782701155
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782702062
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 51 Question Id : 87827055748 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The maximum height reached by a projectile is 64 m. If the initial velocity is halved, the new
maximum height of the projectileis  m,

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 51 Question Id : 87827055748 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
foptft T R U B o e S 64 7§11 e SRS o ) onen o o R vew
MEm e W

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 52 Question Id : 87827055749 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A hollow sphere i rolling on a plane surface about its axis of symmetry. The ratio of rotational
L) i L] i i ) l- *
kinetic energy to its total kinetic energy is 5 The value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 52 Question Id : 87827055749 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e e e v S o % e T RS W e ¢ | 39 v st 3 a5 e
m’imw%%uwm___ﬁ

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 53 Question Id : 87827055750 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ina single sht experiment, a parallel beam of green light of wavelength 50 nm passes Lhrough a
slit of width 0.20 mm. The transmitted lighl is collected on a screen 100 ¢cm away. The distance of
first order minima from the central maximum will be ¥ 10> m. The value of x is :

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 53 Question Id : 87827055750 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
e et fotl T 50 nom TR 7 2 TN A8 AR 0,20 mm A 1 0 Tt e £
T T 100 51 1 g0 T T U A ¢ | e S § yem AR A gl ax 10 m
PGk ¢l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 87827055751 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

llON
— ldem j¢e— —p " l—
Fekreviy (L4 em
........ i

A hydraulic press containing water has two arms with diameters as mentioned in the figure. A
force of 10N 1 applied on the surface of water in the thinner arm. The force required to be applied
on the surface of water in the thicker arm to maintain equilibrium of water is

N.

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 87827055751 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 87827055752 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A sonometer wire of resonating length 90 cm has a fundamental frequency of 400 Hz when kept
under some tension. The resonating length of the wire with fundamental frequency of 600 Hz
under same tension _____cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 87827055752 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T T AT 91 79 T 4 G T S & o 90 A e e T S 400 Ha & 1 6
@ W 600 Hz 7t S o foru o ot smpfea o &I &

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 87827055753 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A wire of resistance 20 €} 1s divided into 10 equal patts, resulljng pairs, A combmation of two
parts are connec ted in para]lel and so on. Now resul ling pairs of paral].el combination are connected
in series. The equivalent resistance of final combination is _ .

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 56 Question Id : 87827055753 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
20 Qe 3 W A R 10 e o fafm e 81221 i ) R 0 e wa
o T | 97 37 I A o Gl ST 40 W S T e ) st e o qed Wl

0%

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 87827055754 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A solenoid of length (.5 m has a radius of 1 cm and is made up of ‘m’ number of tums. It carries
acurrentof 5 A. If the magnilude of the magnetic field inside the solenoid is 6,28 X 10T then the
value of m is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 57 Question Id : 87827055754 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
057 s 791 1 B o0 o O Wi 1 m B 8 S TR ) 3 e o5 A &1 AR
YrETeR & S TEEE 6 AW 68X 0 TA WA B

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 87827055755 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The electric field at point p due to an electric dipole 15 E. The electric field at point Ron equitorial

line will be I The value of 1 :

i OR
ZrE T':'Q
=
- 0 +q p
—r—

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 58 Question Id : 87827055755 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 59 Question Id : 87827055756 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The current in an inductor is given by [= (3t +8) where tis in second. The magnitude of induced
emf produced in the inductor is 12 mV. The self-inductance of the inductor _ mH.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 59 Question Id : 87827055756 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
T W B O 1= (3t 8)A § T Beke ¥ T o faa 9@ 2 mV R | E A @
- mH gl
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 60 Question Id : 87827055757 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The bhi_)ltﬂbl wav eleng,th of the SPE_’Clla lines in the Lyman series of hydr ogen specnum 18
915 A, The longest wavelength of spectral lines in the Balmer series will be R A,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 60 Question Id : 87827055757 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o e ) TR A 7 e e e e 15 A e it e e
afftm e A2

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Chemistry Section A
SectionId : 8782701156
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 8782702063
Question Shuffling Allowed : Yes

Is Section Default?: null



Question Number : 61 Question Id : 87827055758 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of moles of methane required to produce 11 g CO,(g) after complete combustion is :

(Given molar mass of methane in g mol = : 16)

Options:

878270219231, U-23

878270219232.

878270219233.

878270219234.

Question Number : 61 Question Id : 87827055758 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I ] Hiell i AevHE e fomer g €89 W11 g CO,(g) 3afed & HeF |
(ERIRICIES ﬁﬂﬂﬁﬁﬁ(ﬂmgmol‘lﬁlﬁ]

Options :

0.25

878270219231.

878270219232, U-2



878270219233, U-72

878270219234. 0.35

Question Number : 62 Question Id : 87827055759 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : NH, and NF; molecule have pyramidal shape with a lone pair of electrons on
nitrogen atom. The resultant dipole moment of NH, is greater than that of NF,.

Reason (R):  InNH,, the orbital dipole due to lone pair is in the same direction as the resultant
dipole moment of the N—~H bonds. F is the most electronegative element.

In the light of the above statements, choose the correct answer from the options given below :

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
878270219235.

Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
878270219236.

(A) 1s true but (R) is false
878270219237.

(A) is false but (R) is true
878270219238.

Question Number : 62 Question Id : 87827055759 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T B fer T e | 37 4 % % oHfreRem (A) T GE T (R) T E

AR (A) : NH, T NE, aai o fret awem ¢ o N o ® o G i W
e &1 NH, %1 9fome! e el NF, 9 o

FEOTR):  NH, H S G W o w0 we Gy A, N - H e & oo ey
ST 1 T e A €1 F W e 0 ¢l

SR Fo % Teof W A fen o fored o @ W@ IR A A

Options:

| ZHl (A) TS (R) HET € 9T (A) T Tel AR (R) T

878270219235
878270219236, A (A) TH (R) HEl € 9% (A) 1 Hel =0 (R) T &

~ (A) 5E & 9 (R) T €

878270219237

| (A) T § T (R) Tt

878270219238

Question Number : 63 Question Id : 87827055760 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I:  On passing HCl 3 through a saturated solution of BaCl,, at room temperature
white turbidity appears.

Statement I :  When HCl gas is passed through a saturated solution of NaCl, sodium chloride is
precipitated due to common ion effect.

In the light of the above statements, choose the most appropriate answer from the options given

below :



Options:

878270219239. Both Statement I and Statement Il are correct

878270219240. Both Statement I and Statement Il are imcorrect

878270219241, Statement 1 is correct but Statement 1l is incorrect

878270219242, Statement I is incorrect but Statement Il is correct

Question Number : 63 Question Id : 87827055760 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EEREREN AR

FITL: BaCl, % el W foerad o HCl(gjﬁw%HWWw%mu{,@mﬁw
fee 2 21

FUF I : 9 HCL T %1 NaCl % W ferer! & vnfea fo 1 & 1 9 4 e & oo e
FINGE Fadf B T €1

i e e 4 fe o et & e v o
Options :

878270219239. S AT 1 Td R 1L He € |

878270219240, Sl SR 1 T e 1L 7T € |

878270219241, 107 I 9el & g e 1 Tefd 2



878270219242, PO L TIEK ¢ %] A 11 HEl 2

Question Number : 64 Question Id : 87827055761 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the electro chemical cell

0

0
If
E( M2t M)

=046V and E_,
(x/x%")

1

=034V.

Which of the fullowing is correct 7

Options:
878270219243 M+X - M** +X*" is a spontaneous reaction
878270219244 M2t 4+X2- 5 M+Xisa spontaneous reaction
Ec,,;al].: 0-80 U
878270219245. -
EL'-{&H: “Bgﬂ V
878270219246.

Question Number : 64 Question Id : 87827055761 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sga Tt 99 % fau

M{M2+||X| X2~
ACE . =046V AME ,, =034V q:
(M2 /M) (x/%27)
freaferfes o 4 <9 ad &2
Options:

M+ X — M2+ + X2~ weF w=a; sAfufsan &
878270219243,

M2+ 4+ X2— 5 M+ X U @ sifufsar &
878270219244.

E“,” —— 0.80 V
878270219245. =

EC{‘H: ""BB“ V
878270219246. .

Question Number : 65 Question Id : 87827055762 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The quantity of silver deposited when one coulomb charge is passed through AgNO, solution :

Options:

lg of silver
878270219247.

0.1 g atom of silver
878270219248.

878270219249.



1 electrochemical equivalent of silver

1 chemical eq uivalent of silver
878270219250.

Question Number : 65 Question Id : 87827055762 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W AgNO, foer § T Fea e Yated {2 S & df e g foesr #1 qmn e

Options :

1 g foeaR

878270219247.

878270219248, -1 8 d

fqeer o1 1 S TErEE qodis

878270219249

e =1 1 TErEHS o

878270219250

Question Number : 66 Question Id : 87827055763 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1;  The metallic radius of Na is 1,86 A° and the ionic radius of Na™ is lesser than
186 A°.

Statement II :  lons are always smaller in size than the corresponding elements.

In the light of the above statements, choose the correct answer from the options given below :
Options:

878270219251 Both Statement I and Statement Il are true

878270219252. Both Statement I and Statement 1l are false

878270219253 Statement 1 is correct but Statement 11 is false

878270219254. Statement 1 is incorrect but Statement Il is true

Question Number : 66 Question Id : 87827055763 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e & A feu e €

WIL:  Nadi e B 1.86 A° & 791 Na* 1 ol 9 186 A° & 99 €
FOTI: T T e § S R HE g g g

Sy o % e o 9 fou o fomredt # @ waifen swis s -

Options:

878270219251, S AT 1 Td R 1L He € |

878270219252. Sl e I UE A I e € |



878270219253, Po1 el & I R I TTerd ¥ |

878270219254, T A1 L TTCK ? U3 R 11 W €

Question Number : 67 Question Id : 87827055764 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - I

List - I List - II

(A) I (I) T - shape
() 1C (II) Square pyramidal
(C) ClFg (IIT) Pentagonal bipyramidal
(D) I, (IV) Linear
Choose the correct answer from the options given below :
Options:

A)-(I), (B)-(111), (C)-(I), (D)-(IV
878270219255. (D (BRI, (AT, (DHIV)

A)-(D), (B)-(IV I11), (D)-(1I)
878270219256. (A)-D) (B}(IV), (C)-(IM). (D)(I)

A)-(IV), (B)-(LLT), (C)-(I1), (D)-(I
878270219257. (AHIV), (BHI), (G, A ) 1y

(A)HLV), (B)~(1), (CO)-(1L), (D)~(II)

878270219258.



Question Number : 67 Question Id : 87827055764 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt - 1 31 foers q=i - I 9 %1

e - 1 T - 11
(A) ICI (Iy T- &rHla
(B) IClL, (I = et
(C) ClFs (1) Y= fgfaufael
(D) IF, (IV) &
e fou T fosredi § | WE ST H A
Options:

s78270219255, e e (R L AR

878270219256. (A, (B)}-(IV), (C)-(LD), (D)-(ID)

878270219257, (ARLV), (B)-(1LD), (CH(11), (D)-()

878270219258, (AHLV), (B)-(1), (C)-(1L), (D)D)

Question Number : 68 Question Id : 87827055765 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct statements from the following are :

(A) The decreasing order of atomic radii of group 13 elements is TI > In > Ga > Al > B.

(B) Down the group 13 electronegativity decreases from top to bottom.

(C) Al dissolves in dil. HCI and liberates H, but conc. HNO, renders Al passive by forming a

protective oxide layer on the surface,
(D) All elements of group 13 exhibits highly stable +1 oxidation state.
(E) Hybridisation of Al in [Al(H,0),P'* ion s sp*d?.

Choose the correct answer from the options given below :

Options:

(A) and (C) only
878270219259. ' =

(C) and (E) only
878270219260.

A), (B), (C) and (E) onlv
878270219261. {: ) {: ) { ) { ) 2

(A), (C) and (E) only
878270219262.

Question Number : 68 Question Id : 87827055765 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ot o 9 R o €

(A) TR 13 7 3 o Feell 1 e FE 11> In>Ga> AL>B

(B) W% 13 % 3 el o1 W e Heroweren e €

(C)  ALT HCIH 9o H, Ffaa %% & W W HNO, 50 R U T4 S5 T o AL 91
faftgra 547 & 21

(D) W 13 % B4t 7 ofcfees Rl +1 Sfefert e T ot <

E) [AIH0) [P # A% HH spd? R

et feu o ol # A W SR AN T ¢

Options :

878270219259, ¢ (A) & (©)

878270219260. (C) T (E)

878270219261. Fe (A), (B), (C) W (E)

878270219262. (4), (C) T (E)

Question Number : 69 Question Id : 87827055766 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of ions from the following that have the abi]ity to liberate h}fdmgen from a dilute acid
is %

Ti2t Crlt and V24

Options:

878270219263. 0



(=

878270219264.

I~

878270219265.

878270219266.

Question Number : 69 Question Id : 87827055766 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
freferfas # & 37 el %1 we for a9 o 9 ererer # fiiE F @ e €
Ti2+, Cplt Q_EI V24

Options:

878270219263, U

878270219264.

I~

878270219265.

2

878270219266.

Question Number : 70 Question Id : 87827055767 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The metal atom present in the complex MABXL (where A, B, X and L are unidentate ligands and
Mis metal) involves sp* hybridization, The number of geometrical isomers exhibited by the complex
15 :

Options :

878270219267. 0

878270219268.

]

8782702192609.

878270219270.

Question Number : 70 Question Id : 87827055767 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Te@ MABXL (91 A, B, X T3l L T foree & e M o1 &) H 39fEe o1 W] s’ ekeml 2 21
T 50 e S S o G ¢

Options:

878270219267. 0

878270219268. -

878270219269. 3



878270219270. 4

Question Number : 71 Question Id : 87827055768 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of complexes from the following with no electrons in the t, orbital is

TiCl,, [MnO,]", [FeO, 2", [FeCl,]~, [CoCL, ]2~

Options:

878270219271.

]

878270219272.

878270219273.

878270219274.

Question Number : 71 Question Id : 87827055768 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fretfafaa & & 9 deedi 31 wen for o, Feml § 3 off o sufem 78 €7
TiCl,, [MnO,]", [FeO,[*>~, [FeCL ], [CoCL,J2~

Options:

878270219271. 4



878270219272. 3

878270219273. -

878270219274,

Question Number : 72 Question Id : 87827055769 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

While preparing crystals of Mohr's salt, dil H2504 15 added fo a mixture of ferrous sul‘phal'e and
ammonium sulphate, before dissolv'mg this mixture in water, dil HESQl is added here to :

Options:
prevent the hydrolysis of ammonium sulphate

878270219275.

make the medium slrﬂngl}f acidic
878270219276.

prevent the hydrolysis of ferrous sulphate
878270219277.

increase the rate of formation of crystals
878270219278.

Question Number : 72 Question Id : 87827055769 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR e 3 Tt 3 R & SR T ethe T S Tk i ) o  Sem & el o
H,S0, FreTen 1 & | 9 7 H,50, 1 foern e &

Options :

AN Aotk & Wel 9 &1 U9 & fau

878270219275

HIEAH o] Yol A g9 2
878270219276.

Y TR W ST 9 4 ¥ e

878270219277.

e % i 1 < 3 5@ & faw

878270219278

Question Number : 73 Question Id : 87827055770 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct nomenclature for the fnlls:m’i_ng cumpﬂund 15 :

O

OH
G O

Options:

2-carboxy-4-hydroxyhept-7-enal
878270219279. .



2-carboxy-4-hydroxyhept-6-enal
878270219280. :

2-formyl-4-hydroxyhept-6-enoic acid
878270219281.

2-formyl-4-hydroxyhept-7-enoic acid
878270219282.

Question Number : 73 Question Id : 87827055770 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 <iifirer % fou | R R
O
—_—
OH
OH D/\\_H
Options:

2-carboxy-4-hydroxyhept-7-enal
878270219279. :

2-carboxy-4-hydroxyhept-6-enal
878270219280. :

2-formyl-4-hydroxyhept-6-enoic acid
878270219281. ;

2-formyl-4-hydroxyhept-7-enoic acid
878270219282. !



Question Number : 74 Question Id : 87827055771 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - IL
List- I List - 11
(Pair of Compounds) (Isomerism)

[) Metamerism

(A) n-propanocl and Isopropanol (I

(B) Methoxypropane and ethoxyethane  (II) Chain Isomerism

(C) Propanone and propanal (Il) Position Isomerism
(D) Neopentane and Isopentane (IV) Functional Isomerism

Choose the correct answer from the options given below :

Options:

878270219283. (A)-(1D), (B)-(1), (O)-(IV), (D)(IL)

878270219284, (-1, (B, (€U0, (DHIV)

s782702192gs, e (BRI, (Cx (V). (D)

s78270919286, AT, (BB, (Cr V). (DI

Question Number : 74 Question Id : 87827055771 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it - 1 %1 T it - 11 9 o
Tt -1 Tl - 11
(ARt o ) (HTErEE)

(A) n-HToTE TS SEHSAT () e
(B) Thufedt 9rta wal sofed veH (I) sfEen goEged
(C) UM T 9o (1) feerfa geTeEm
(D) fAsfU=H Td MEEY=A (IV) Terarenes SHmemEe
1 feu o fasedi ® & W& ST R 9 ¢

Options :

(A)-(ID), (B)-(I), (C)-(IV), (D)~(II)

878270219283.

argor0a100aa. R B ACHID, ABHIV)

878270219285, (A)-(D), (B)-(I), (C)-(IV), (D)-(I1)

a78770219286, IR AL ALY, (D)-(II)

Question Number : 75 Question Id : 87827055772 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Idenljfy A and B in the given chemical reaction sequence :

iko

F Zn—Hg .
AlCl, HCl
Options:
878270219287. COOH COOH
COOH CHE’C}H
878270219288.
QO OH
A - @ F B ) @
878270219289. O OH
Q
QO

878270219290.



Question Number : 75 Question Id : 87827055772 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feu o vamtTE sfafe w0 § A vd B3 w9

¢

Zn—Hg B i Fip

» A #
AlCl Hel
O
Options:
(@)
A - 5 B
878270219287. COOH COOH
A - ;. Ba-
COOH CH,OH
878270219288.
OH
A - . B
8782702192809. O OH

878270219290.



O
A“ , B" @‘
O

Question Number : 76 Question Id : 87827055773 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following reactions is NOT possible ?

OH
[:::]" HCl
Cl
NaOH .
High Temp, H*

OCHj OCH,

[:i::] Cly/AlCly [:i:j
cl

Options :

Cl

878270219291

O
z

878270219292

878270219293.

878270219294.



OCH; OH

HBr

Question Number : 76 Question Id : 87827055773 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefefad § ¥ wE-5 sifufsea gva =8 872

Options :
OH Cl
HCIHE:::]f
878270219291.
Cl OH
NaOH
IHAY, Ht
878270219292.
OCH,4 OCHj,4
[:i:] Cl,/ AlCl, [:i:]
878270219293. Cl

878270219294.



OCH; OH

HBr

Question Number : 77 Question Id : 87827055774 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the major product in the following reaction.

Br
OH .
CH; » Major Product
CyHsOH
Options:
CH>
878270219295,
CHj
878270219296.
Br
878270219297.

878270219298.



CH,

Question Number : 77 Question Id : 87827055774 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafaa sfufsn § g 3o 1 9eam
Br
OH
CH > HE&A 31g
> C,HsOH
Options:
CH,
878270219295,
878270219296,
878270219297,

878270219298.



Question Number : 78 Question Id : 87827055775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(i) Jones Reagent
(i) KMnO, .
(iif) NaOH, Ca0, A

CH4CH,-OH

Consider the above reaction sequence and identify the major product P.

Options:

878270219299, Methanal

878270219300, Methane

878270219301. Methanoic acid

Methoxymethane
878270219302.

Question Number : 78 Question Id : 87827055775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(i) S| srfrda

CH5CH,—OH ;
(i) KMnO,

(iii) NaOH, CaO, A
SHda Afuferar s T fa=m i U8 & 3% ‘P 1 YgE ¢




Options:

Hel e

878270219299

T
878270219300.

HgAfees 3

878270219301

Rt #gm
878270219302.

Question Number : 79 Question Id : 87827055776 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the given chemical reaction :

» Product “A”

Product “A” is :

Options :

878270219303, acetic acid

878270219304, Oxalic acid

-adjpic acid
878270219305.



picric acid
878270219306.

Question Number : 79 Question Id : 87827055776 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& T et afufEa w faEm

KMHD‘I i H?'_SD 4
JEHT

Frs AFF
L i

IR “A” B
Options :

e ¢

878270219303

878270219304

. W

878270219305

878270219306.

Question Number : 80 Question Id : 87827055777 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Coagulation of egg, on heating is because of :

Options:

Brreaking of the pepﬂde linl{age in the primary structure of protein occurs
878270219307. *

Binlﬂgical property of protein remains u_nr:ha_'nged
878270219308.

The secnndary structure of protein remains unchanged.
8782702193009.

Denaturation of protein occurs
878270219310.

Question Number : 80 Question Id : 87827055777 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH T I UL T Whed 2T § i

Options:

T % wafies Jea ° deEe sy o foed g 2

878270219307

SIS e et 7 A £

878270219308

| W & fedizs d= 8 #E gfieds T S g |

878270219309

878270219310. i éﬁﬂ % !
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Question Number : 81 Question Id : 87827055778 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. | 1,
[n an atom, total number of electrons having quantum numbers n=4, jm,=1and m = & is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 81 Question Id : 87827055778 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
WWﬁWﬁWWWWWW@H:Mm{!ﬂWms =--%2

| (e T [y —

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 87827055779 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of compounds from the following with zero dipole moment is
HF, H,, H,S, CO,, NH,, BF,, CH,, CHCl,, SiF, H,O, BeF,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 87827055779 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Frefetfaa # & 3 gy ot anet Al 21 en &
HF, Hz, HZS, COE, NHE, BFEJ Ci-lq, CHCL&V SiF4, HZO, BeF2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 87827055780 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Combustion of 1 mole of benzene is expressed at
CeHg (1) + % O5(g) = 6 CO,y(g) +3 HyO(l).

The standard enthalpy of combustion of 2 mol of benzene is —‘x" kJ.

Given :
1.  standard Enthalpy of formation of 1 mol of CH(l), for the reaction
6 C (graphite) + 3 H,(g) = CgH(l) is 48.5 k] mol™ A
2. Standard Enthalpy of formation of 1 mol of CO,(g), for the reaction
C (graphite) + O,(g) = CO,(g) is —393.5 k] mol 1.
3. Standard and Enthalpy of formation of 1 mol of H,O(l), for the reaction

H, (g) + %Oz(g) = HyO(l) is —286 k] mol ™.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 87827055780 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 et o= 1 Tgd 71 vam @ fom & o ©

CeHg (1) + % Oy(g) = 6CO,(g) +3H,O(l).

7501 o 2 Tt 1 T wed Ted § 2 - k)

r:

fenme:
1. afifiman 2 e, 1 9 C H, (1) % Fon & fore, wiees ORI € 2 48,5 k) mol ™!
6 C (I%1E2) + 3 Hyg) -» CHy()
2. fowa aifufien & forw, 1 961 CO,(g) % Frim & ferw, ek 7o e € ¢ —393.5 K] mol !
C (1) + Oy(g) - CO,fg)
3. A st o fofw, 1 90 H,0(1) o fem o ferg, e 7 Toiedt & ¢ - 286 kJ mol !
Hh(g)+ 3 Oslg - H0()
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 87827055781 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Considering acetic acid dissociates in water, its dissociation constant is 6.25x 107>, If 5 mL of
acetic acid is dissolved in 1 litre water, the solution will freeze at —xx10~2°C, provided pure
water freezes at ( °C.

x= . (Nearest mteger)

Given: (K, 0 =180 K kg mol 1,
density of acetic acid is 12 g mol~ L
molar mass of water=18 g mol 2.,

molar mass of acetic acid=60 g mol L,

density of water=1 gcm'3

Acetic acid dissociates as CHyCOOH = CH3COOG+ H
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

1

Question Number : 84 Question Id : 87827055781 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g W g T Uefifeah afve 7t e i, SR oot ot 6,25 x 10581 7 5 mlL Tehfess
o 1 1 e T o e e foem - xx 102°C W W e (3f 95 9 0°C R T )
= (freem )
f TP R ¢ (K =186 K kg mol =L

QEOFWW 6 FE=12 ¢ mol L

A 1 IR FHWH = 18 g mol 7,

Hifes o 9 HeR ST =60 ¢ mol ~.

el %1 FFA=1g cm >,

e . . e @
effees vt 1 for e 9 9 @1 € : CH3COOH = CH,CO0 +H.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 87827055782 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the foll{)wing sjngle step reaction in gas phase at constant temperature.
24+
28 1By = Cy
The initial rate of the reaction is recorded as I when the reaction starts with 1.5 atm pressure of A
and (.7 atm pressiire of B. After some time, the rate Iy 15 recorded when the pressure of C becomes
0.5 atm. The ratior, : 1, is x10~1, (Nearest integer)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 85 Question Id : 87827055782 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feer a9 e e ¥ foeferf o afvfman w form 6
2A(g) +B(g) - Clg)
aaffan 1 SRfveR 0 2 v o %Y W s forn o e e A% 15 atm T B 0.7 atm €6 %
SO | T, T C 0.5 atm € g A AuHA F A 1, F w9 e fow
W 1, :1'2%  x10°L (e e )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 87827055783 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fusion of chromite ore with sodium carbonate in the presence of air leads to the formation of
products A and B along with the evolution of CO,. The sum of spin-only magnetic moment values
of Aand Bis BM. (Nearest integer)

[Given atomic number : C: 6, Na: 11,0 : 8, Fe: 26, Cr: 2]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

1

Question Number : 86 Question Id : 87827055783 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I 9T 1 9 1 wufeefe § Wfem e F Ty Wl F G TR AT B A R € A
CO, Fifa 8 &1 ATHB & ‘T T A e A A AmE: BM. (Fem
o )
[ T T O C 26, Na: 11,08, Fe: 26, Cr: 24]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 87827055784 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the Claisen-Schmidt reaction to prepare 351 g of dibenzalacetone using 87 g of acetone, the
amount of benzaldehyde required is _ g (Nearest integer)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 87 Question Id : 87827055784 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
i oz aifuran ¥ 87 g UHIe o1 A %0 §U 351 g SRelsiel THier o FAim o foru e
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 87827055785 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us'mg the given figure, the ratio of Rf- values of samplit1 A and sample Cis xx1072 Value of x is

125 em «—}-ee-caeae--f— Solvent front

00em«—| o —— SampleC

65m«—| o —— SampleB

50cme| * T SampleA

0.0 cm +—}---- [ ----- — Base line

¥
Samples (A, B, C)
Fig : Paper chromatography of Samples
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The prm‘iuct @ in the fn]lowing sequence of reactions has 7 bonds.
KMHOJ‘_KOHM @ HSOi @ Bry ; ©
A FeBr3
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X g of ethanamine was subjected to reaction with NaNO,/HCl followed by hydrolysis to liberate

N, and HCL. The HCl generated was completely neutralised by 0.2 moles of NaOH. X is
—— B
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